PDFIF21FE6 AR DNABTY , asEHmweBE TR

E#HZI1=vh

—SHYREO—5 1 7 (MEAE)—

W R OFMRCO—(CLENTHEEICENR THY), §B~200CETOMBIFEN HET,

FALEEN (ERR TR - g R 12T 12158)
BALL BEARING UNITS -PILLOW CASTING HOUSING TYPE-

PDRHT (M#517)

2—M1

A
FEE S B 1558 __ WmEd | W#E
JIS B 1559 NG @ Fc200
MBHEOBRMZEEROWE | HT (XEED) Ll [ suJ2
(BRI : HiE~+200C ©IL =) PR
OEMBLoMNATDUEEEE T 5720 MENDTPICBIEET, 1EHRU 0 Scm435
B EXEBHE (KN) IEHhl -
JSHU | H | L (L1t |A|di|d|t|H|B]|S GHIV TEITI |y | R
Type | D Cr(@) |Cor(i®)| M1 ) lemeng| (@
12| UcP201 650 | 1,680
15| UCP202 | 30.2 62 390 640 | 630 | 1,680
127 | 95 19 15 31 [12.7| 128 | 66
17 | UcP203 38 13 620 | 1,680
M6X0.75
20 [ UCP204 | 33.3 65 1280 | 650 | 1,940
BORHT 25| UCP205 | 36.5 | 140 | 105 16 16 | 70 [34.1|143| 14 | 7.9 490 | 1400 |[790 | 1,940
30 | UCP206 | 42.9 | 165 | 121 | 2 18 | 83 [38.1[159| 196 | 11.3 1960 (1260( 1,940
35| UCP207 | 47.6 | 167 | 127 | 10 94 [429|175| 259 | 154 2590 [1590| 2,290
40| UCP208 | 49.2 | 184 | 137 5 25 100 | 49.2 293 | 17.9 | M8X1 | 1180 | 2930 (1920 2,660
45(UCP209 | 54 | 190 | 146 22 20 | 108 [492| 19 | 33 | 205 3300 |2190| 3,460
50| UCP210 | 57.2 | 206 | 159 | 60 | 25 | 20 | 22 | 114 | 516 355 | 232 |M10X125| 2350 | 3550 |2590| 3,480

Order X

EXH

PDRHT12

l-027-2019

Pl
A E
@OZFLICLVIPVE00IE, YEHEFZMELET,

Q| = = 2 |BRLH BT PI33

W E 251 Rl (D1Mx#70#47) P133
= REX R
BEXS =]
W B 1~9 | 10~20 | 21~50 51~
B8 | FEEM] 5% | 10% | HEHEY
OFREBHBAIIWOSICTIHEB AL,

pERTPEITS
XA

(@kgi=Nx0.101972

PDFIZ21FE6 A R DHNBTY o BHEREWEBE TOREES (AR AT B E - B8R 147 118 1)

BALL BEARING UNITS -PILLOW CASTING HOUSING TYPE-

EF#HZI1=vh

—HFYPREO— (DEI1T)—

W45 & : PDR(JISFEUMUCP2007) WD DRI BEELLZHDICEYET,

PDRM (b&£17)

S)

2—Mi

A
YERE:JS B 1558 __ #mEs | [OH®
JS B 1559 NG [ FCc200
WEHEOHRRMBEEROBE | H7 (TEEED) Ll [ suj2
B - —15~-+100C B MPIERS
OFMB LN LEEE T B0 MENDEPICBEET, DU (0 Scm435
B EARERSE (KN) IEHhl _—
JSTEVU| H | L (L1 | A |di|d|t|H |B|S GHMY | PRI | ¥
: (9)
Type | D Cr(8) |Cor(3#) M1 (N cm) |&fTaED(N)
25| UCP305 | 45 | 175 | 132 | 45 16 | 84 | 38 | 15 | 21.3 | 109 [M6X0.75| 390 1065 |1600| 1,950 ,\,\'
20 77 77
30| UCP306 | 50 | 180 | 140 | 50 19 | 94 | 43 | 17 | 268 | 15 [M6X0.75| 390 1340 {1900 2,410 ; ;
17 Z
35| UCP307 | 56 | 210 | 160 | 56 | 25 21 | 105 | 48 335 | 19.2 | M8x1 | 830 1675 |2700 2,900 .
PDRM 19
40| UCP308 | 60 | 220 | 170 | 60 | 27 23 | 116 | 52 405 | 239 |M10Xx125| 1620 | 2025 [3120| 3,480
45| UCP309 | 67 | 245 | 190 | 67 | 30 25 | 128 | 57 515 | 295 |M10x1.25| 1620 | 2575 |4130| 4,580
20 22
50| UCP310 | 75 | 275|212 | 75 | 35 28 | 143 | 61 61.5 | 382 |M12x15| 2790 | 3075 [5680| 5,820
(Dkgf=Nx0.101972
EXH
PDRM25
ﬁl Pelivery @ == s BREHERI3
ofE]
OZFHLITLNIPMB:00i2, HHEFZMRLET,
¥ price NIRRT A MR (D1FFi#g)1EC) P133
| = BER I ERRI
i HEXS =] %0
W B 1~9 | 10~20 | 21~50 51~
BEIE | FOEEfH | 5% | 10% | HRMEY
OFREBHAIIWOSICTTHERA,
EJ-028-2019



